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N. B.: (l) All questions are compulsory.
(2) Make suitable assumptions wherever nece and
(3) Answers to the same question must be
(4) Numbers to the risht indicate marks.
(5) Draw neat labelled diagrams wherever necessary.
(6) Use of Non-programmable calculators is allowed.

which functions are performed by static timing analysis in simulation?
21. Computation of delay for each timing b. Logic anerlysis in a static llanner

path
c. Both a and b d. None of the above

signal, which is to be Lrpclatecl.

b. Change on

d. None of the above

is not a characteristic of 'E,r,ent-clriven Simulator,,l
violations b. Storage ol,state values & tirne

inforrnation
d. No cvent schecluling

[Total Marks: 601

I

2.

J.

6. Whic

. e$; rt*t1,,/*.f l,gI,i ff nTr:ffe{ri+

:::e<-r1 \\ I qC- C c,.\..n,

altcrnzrtive.
Se Iect the valid reasons for tising simulation
21. Simulation model cannot prescribe

whzrt shotiid be done about a problem.

'1 t\a cq

(28)

b. Simulation moclels can be used to
study alternativc solutions to a

problem
d. The equations describing the

operatin-e characteristics of the system
are known

Choose the correct alternative and rewrite the entirc sentence with the correct

s

Sirrttrlation nrodels can be ttsed to ohtain operating cltaractr'ristic cstinrares in less lirrrc
tha, with tl-re real system using a feature of simr-rlation called:

I "f,1"i3ilJ,11.,", l $#::ifi:above

What is/are the necessities of Simulation process in VHDL?
a. Requirement to test designs before b. nJr-,.tio,l of clcvelopment ti6e

implementation & usage
c. l)ecrease the time to market d. AII of thc abovc

4.

5.

:



7

8.

9

1 0.

1.1

12.

Which type of simulator/s neglect/s the intra-cycle state traursitions by chccking the strttts
of target signals periodically irespective of any events?
a. Bvent-driven Simulator b. Cycle-based Simulator

c. Both a arrcl b d. None of the lrbove

ln the simulation process, which step specifies the conversion of VHDL intemrediatc
code so tlrat ir can be used bv the sirnulator?
a. C'orupilation b. Execution
c. lnitialization d. Elaboration

Whioh among the following is not a characteristic of 'Event-driven Simulator'?
a. ldentification of timing violations b. Storage of state valucs & time

c. rime delay carculation d. i*"J[*::heduling

Which type of sirnulator/s neglect/s the intra-cycle state transitions by checking the status

of target signals perioclically irrespective oi any events'/
a. Event-drivcn Simulator b. Cycle-based Sirlulator
c. Both a and h d. None of,the lbove

Which of the following can't be a component for a tirne series plot?
a. Seasonality b. Trend
c. C'yclical rl. None of tlte rbovc

series data (excluding white noise) alc indepenclent andAcljaoent observations in time
irlcntically distlibured (llD).
a. TRUE
c. Depend ou simulation

t4.

15. .The
system that is to
a. Level of detail
c. Output

Partially True

to a computer

b. Validity
d. Credibility

that are a result of human

b. Designed abstract systems

d. Natr,rral systcms

is the model boundary or the breadth of-the real

the

conceptual
plrrpose at hand.
21.

c.

Usability
Feasibility

b. Scope of model
d. Assumptions

included in the model.



r-1..
a. 

"t. 
t 'a.

16.

17.

19.

21. In
ate
a.

c.

making changes
a. Batch
c. Both of

18.

20.

22

b. Analysis
d. Experiment

data and the data required for

b. Black-BoxValidation
d. ExperimentationValidation

system being modeled as a process , t.e. a sequence of

b. Discrete event modelling
d. None of these

theforaccurate osepulp

across entities is

they
a.
c.

L.

c.

tests.

a.

c.

the length of a run.
a. Terminating
c. Empirical

a.

modelling



il

8
in simulation ?

box validation and verification?
its limitation?

and how it is achieved?

Triggers used in 'statd 
charts explain the function

and explain the state chart of laptop running on

execution mode with respect to anylogic?
approximation of real world continuous pracess?

the following:
phase simulation approach.
model for plotting moving average.

8

8

of replicaticins and run-

c) Write a short note on grouping shapes'

il Explain the use of camera in 3D multiple window

-:r .. :'
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(2% Hours)
I [Total Marks: 60]

through standard mechanisms
plzrtforms. 'l'his service is

b. Broad network ilcccss

d. Rapid elasticity

pooled to serve mLrltiple consumers using a
physical and virlual resoltl'ces dynarlically assi gned

ce b. Broad network zicccss

N. tl.: (l)
(2)
(3)
(4)
(5)
((r)

I

I

2.

recognizcd by
rt. On-clemand

c. Rcsorrlce pooling

clcmand. This service is recognizcd by

b. Broacl network access

d. Rapid elasticity

usagc are monitored, conkolled, audited, and repofled, to
for both the provider and consunler of the utilized servicc

Rcsource pooling d. Rapicl elasticity

c lct-.tal te lnPuhitd

Choosc the correct alternative and rewrite the entire sentence rvith the correct
alternative.
NIST Sta,ds fbr (28)

a. National Institute ofStandards and
Techr-rology

c. National Institute of Standards and
Thinking.

capabilities, such as server tinre and
netlvork storage, requiring hurnan interaction with each
SCTVlCC provider
a. On-clcmancl Broad AOCCSS

c. Resource pooling d. Rapid elasticity

self-service

4.

b. National Institute of Sr:bject ancl
Thinking.

d. National Institute of Sr-rbjcct ancl
Technology.

:1.

c.

On-derland self'-service

Resouroe pooling

5.



6.

1

8

9

10.

11. hr
l.

12.

21. Private
c. Pr-rblic

cloud.

use by the generai Ptrblic'

cloucl.

cloud services, information systcm'

IS

SaaS, ttsc of

c.

13. In
is cotrsiclcrccl as

is Software as a Service'

is Platform as a Service'

is Infrastructure as a Service'

b. PaaS

d. DaaS

b. PaaS

d. DaaS

PaaS

DazrS

b. Provider AotivitY.
d. Carrier ActivitY.

conceptual model tliat is a powerful tool fbr

and operations of cloucl computitrg

b. Security.
d. ISO

b. Clloucl Service Mzrnagcmeut.

d. Clloud Opcratot'.

a.

c.

SaaS

IaaS

a.
c.

SaaS

IaaS

b.
d.a. SaaS

c. laaS

Irri+=_=-=-cloudinfiastructureisprovisioneclfbrexclusiveusebyasingle
organizatior "o,l'pt"ing 

rnultiple ton"t*"^ (e'g'' business units)' lt may be owned'

manzrged, una op"rur.;i;;h.;rganization, u'ttri.a party, or solrle combination of thcm'

aricl iimay exist on or off premises' 'ty cloud.
o. 

- 
P.irur" cloucl' b' Communt

c. Public cloucl d' Hybrid clond'

cloud infiastructure is

Private cloud.
Public cloucl

u. -C-o*"*er 
ActivitY

c. Ilrokcr Activiry

IQ zr generic high-lcvcl
drscussing the recluirements, structttres,

14.

a.
c.

arciritecture

15. Accounting and Billing comes uncier

a. C'lotrd SecuritY.

c. Cloud Consnmer.

Hadoop.
NIST cloud comPuting reference



16.

17.

I8.

I9.

!

communication,
identifiable
:1. Accoun
c. Privacy

20. A Cloud
provicling

processlng)
personally
called as

followiri,I
b. Secririty.
d. Accountir-rg

development projects then Maturity Ievel is

on.

b. tlilling.
d. Arbitrage

b. Testing.
d. Market Acceptance.

ecificsp andcapability

zlsre f'erredIS

I
t
I

2t

23.

from

b. Under l)evelopment.
d. Technically Stable.

available then maturity Ievei isIS

Availability

24.

is Cloud service life cycle element.

a, Cloud Consumer.
c. Cloud provider.

a. Intermediation.
c. Arbitr-age.

a. No Stanclard.
c. Appr-ovedStandarcl.

b. Cloud Au<iitor.
d. Cloud lJroker.

glven servlce by improving
services to cloud Consumers.

d.
Aggregation.
Cloud Security

a

,{



2'.7.

28.

26.

ilI

8

8

8

b)
c)
d)

Architccture .

Architecturc.

used to evaluate the estirnatecl costs eillcl

IT resources.
administration of laaS cloud dctivery modcl from

(SLA)? Why it is used? Explain variotts

adrninistration of SaaS clor"rd cle livery nrodels
cloLrd provider.view of the

?r. Negotiation Performance'
c. CommercialAvailabilitY'

isacligitalcodingsystenrdedicatedtopreser.vecorrfidentialityandirrtegrity
ffir".roto-
a. Accounting b' Billing'

c. EncrYPtion. d' Sunset'

b. Testing.
d. Mzrrket AccePtzttlce'

Accounting.
Track Usage.

services into one or more l1ew servlces'

Aggregation.
Cloud SecuritY

8

V


